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LOTUS Challenge (OP=Open, R=Racing, N=Normal)

2014/11/16

R/FEHE—E—/ S—4(1561m)

KE:BFh 3—X: K54

Pos.| PIC [No. Driver Type |Laps|Total Time| DELAY [ GAP [Best Tm CAR Shop/Team

1 JOP-1 | 15 [laH BIE GH1117 | 10 | 09:37.338] - - [24:00.000]wTrY 1> 5F—rzxs—S DAL T A —F
2 [N-1 8 |ERI IE GH111 10 | 09:55.953] 36.000] 36.000[47:31.200[s1T% K-one

3 [oP-2 14 [ET GH1117 | 10 | 10:02.304] 02.400] 26.400[12:28.800]* 5 <=Fv%5-Tx— [K-one

4 [N-1 16 kAR FFE GH1117 | 10 | 10:18.296] 31.200] 28.800| 1:00.897|Ta%TF —2+1  |K—one

5 [N-2 18 [B7E £ GH1117 | 10 | 10:18.518] 12.000] 40.800] 1:01.003]>s>st—t-2—<zy—t 945 A—F
6 [N-3 17 | RfA E8 GH1117 | 9 | 09:56.999]1 EIE [1 E[E | 1:05.438]KEN2TF— K-one

7 |R-1 19 [lLA FIi& GH1117 | 9 | 10:10.276] 52.800] 52.800] 1:04.992|wTRY<HwAEXIGE ! ! [DAL 5T A —F
Lk, EE

DNF[R [37 [5RsE A& [GH1117 | 0 [-— [ - T - T— TaaEIr rLzxs—VlK-one

BMW Challenge (B/OP=0pen, B/R=Racing, B/N=Normal)

EURO-OPEN (E-OP

)

/ E2000 Challenge (E/T=Turbo, E/R=Racing, E/N=Normal)

KiE:-BEH 3—R: K54
Pos.| PIC [No. Driver Type |Laps|Total Time| DELAY [ GAP [Best Tm CAR Shop/Team
1 [E/R-1 [ 5 [ZE B S8NFS | 10 | 10:35.229] - - 1:02.631[\Aou=vssroyoy [ HL—C0 00
2 |E/N-1 7 |#aFx HER DZF4R 10 | 10:37.401] 2.172 | 2.172 | 1:02.840|& &+ R TKRHIITT
3 [BMw/r-1] 12 |25FH EH#G48  |BE18 10 | 10:44.504] 9.275 | 7.103 | 1:03.628| GARAGE#} 1325 & [GARAGE#: 1L
4 [Bmw/r-2| 11 (&5 BEZ BE19 10 | 10:49.407| 14178 | 4.903 | 1:03.721|GARAGE102 #2552 |GARAGE#IL
5 [Bmw/N-1] 13 [;2H @58 CG19 10 | 11:07.579] 32.35 | 18.172 | 1:05.248|318ticM3EBSF, "~ |ASP
6 |[E/OP-1| 3 |3 E— M3C 10 | 11:32.312] 57.083 | 24.733 | 1:08.184|ASPIE#ERM335T FSPL [ASP
7 [E/R-2 | 6 |#iK BE $2S 10 | 11:32.903] 57.674 | 0.591 | 1:08.221[Car Dock106 H—RyH X%
8 |[E/OP-2| 4 [FBE B— M3C 10 | 11:34.217] 58.988] 1.314] 1:06.342| TXFJ)L49-16 M3C |ASP
9 |smwor-1] 10 [&/K BA CN30 10 | 11:34.580] 59.351] 0.363]| 1:07.694|%n 2> )—XF+>F223|ASP
10 |E/OP-3] 9 [4t 0 =& M3B 9 | 10:49.363[1 M@l |1 A& | 1:10.111|5BAL—2FE 2—=M3B |ASP
L. EE
DNS [E/OP 1 [INiE & E92M3 0[-— = - [ — TKRacing M3R TKXOLF
DNS |E/OP 2 | BA E36M3 0]-— = - [ — FO=EER) T M 7o |ASP

DNS= Did Not Start
DNF= Did Not Finish




